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Consider the graph below of f(x), which shows the population
in thousands of a small fown since 2000. The graph of g(x)
shows the number of cell phone towers based on the
population in the same town since 2000.
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What is the value of f(9), and what does it represent in the
context of this example? QOO/() 00 }0*60//(’ [ 2009

What is the value of g(600), and what does it represent in the
confext of this example? ﬂffwx‘hc\j(d? V50 el Coves
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What is the value of g(f(‘})) and what does it represent in the
context of this examplee
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In general, what can we say about g(f(x)) in the context of
this situatione
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Let's Practice!
1. Consider f(x) = x* —5x + 2 and g(x) = —4x.

S
a. Find (fe g)(2). ,
sdoe o) o(2)<4(9) () = (05 w2
dgolye #) 5(D)=-y Sp4 40+
oregs O : (D) - 1g¢

news X
b. Findg(f(Z)).

F()= (A-5()= gl4) =~y )

U-10+L ChENIa
C(a)=-4 /
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c. Find f(g(-3)). (D s(1)
L) (1D=-50142
9(/3): ’L/(@ > Y- (0372
o(3)=> 17 E(12)= 76

d. Find (ge f)(=3): (
C) (=S 9lae)=-Ybe)
AR g(2¢)= ~|0Y

£(3) =3¢ @a@(—}): o
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Try It
2. Consider f(x) = x — 3 and g(x) = x*.

a. Find (f o g)(x).

(£:9)(x)= -7

b. Find (g ° f)(x).

(oo)(x)= (3)
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BEAT THE TEST!

1. Consider the following functions.

PR Match the functions below with their compositions.
g(x) =x D it =JaEE3 / (g°Hx)
h(x) C——Qg;; 3 ﬁ Gly=\2% B. (heg)(x)

i E Fy=42+3 & (Fe®

F HG@x) =2x%*+6 B (geon®
C 6 =2vx E. (ho )X
B Fx)=x+3 R (Feh)(@)
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Assignment: Practice workbook and
"check your understanding for

Section 1: Topic 5
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